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QUESTION 1

A data scientist at a financial services company used Amazon SageMaker to train and deploy a model that predicts loan
defaults. The model analyzes new loan applications and predicts the risk of loan default. To train the model, the data
scientist manually extracted loan data from a database. The data scientist performed the model training and deployment
steps in a Jupyter notebook that is hosted on SageMaker Studio notebooks. The model\\'s prediction accuracy is
decreasing over time. 

Which combination of steps is the MOST operationally efficient way for the data scientist to maintain the model\\'s
accuracy? (Choose two.) 

A. Use SageMaker Pipelines to create an automated workflow that extracts fresh data, trains the model, and deploys a
new version of the model. 

B. Configure SageMaker Model Monitor with an accuracy threshold to check for model drift. Initiate an Amazon
CloudWatch alarm when the threshold is exceeded. Connect the workflow in SageMaker Pipelines with the CloudWatch
alarm to automatically initiate retraining. 

C. Store the model predictions in Amazon S3. Create a daily SageMaker Processing job that reads the predictions from
Amazon S3, checks for changes in model prediction accuracy, and sends an email notification if a significant change is
detected. 

D. Rerun the steps in the Jupyter notebook that is hosted on SageMaker Studio notebooks to retrain the model and
redeploy a new version of the model. 

E. Export the training and deployment code from the SageMaker Studio notebooks into a Python script. Package the
script into an Amazon Elastic Container Service (Amazon ECS) task that an AWS Lambda function can initiate. 

Correct Answer: AB 

 

QUESTION 2

A Machine Learning Specialist is developing recommendation engine for a photography blog Given a picture, the
recommendation engine should show a picture that captures similar objects The Specialist would like to create a
numerical representation feature to perform nearest-neighbor searches 

What actions would allow the Specialist to get relevant numerical representations? 

A. Reduce image resolution and use reduced resolution pixel values as features 

B. Use Amazon Mechanical Turk to label image content and create a one-hot representation indicating the presence of
specific labels 

C. Run images through a neural network pie-trained on ImageNet, and collect the feature vectors from the penultimate
layer 

D. Average colors by channel to obtain three-dimensional representations of images. 

Correct Answer: A 

 

QUESTION 3
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A Machine Learning Specialist is building a prediction model for a large number of features using linear models, such as
linear regression and logistic regression During exploratory data analysis the Specialist observes that many features are
highly correlated with each other This may make the model unstable 

What should be done to reduce the impact of having such a large number of features? 

A. Perform one-hot encoding on highly correlated features 

B. Use matrix multiplication on highly correlated features. 

C. Create a new feature space using principal component analysis (PCA) 

D. Apply the Pearson correlation coefficient 

Correct Answer: C 

 

QUESTION 4

A machine learning (ML) engineer at a bank is building a data ingestion solution to provide transaction features to
financial ML models. Raw transactional data is available in an Amazon Kinesis data stream. 

The solution must compute rolling averages of the ingested data from the data stream and must store the results in
Amazon SageMaker Feature Store. The solution also must serve the results to the models in near real time. 

Which solution will meet these requirements? 

A. Load the data into an Amazon S3 bucket by using Amazon Kinesis Data Firehose. Use a SageMaker Processing job
to aggregate the data and to load the results into SageMaker Feature Store as an online feature group. 

B. Write the data directly from the data stream into SageMaker Feature Store as an online feature group. Calculate the
rolling averages in place within SageMaker Feature Store by using the SageMaker GetRecord API operation. 

C. Consume the data stream by using an Amazon Kinesis Data Analytics SQL application that calculates the rolling
averages. Generate a result stream. Consume the result stream by using a custom AWS Lambda function that
publishes the results to SageMaker Feature Store as an online feature group. 

D. Load the data into an Amazon S3 bucket by using Amazon Kinesis Data Firehose. Use a SageMaker Processing job
to load the data into SageMaker Feature Store as an offline feature group. Compute the rolling averages at query time. 

Correct Answer: C 

 

QUESTION 5

A data scientist has developed a machine learning translation model for English to Japanese by using Amazon
SageMaker\\'s built-in seq2seq algorithm with 500,000 aligned sentence pairs. While testing with sample sentences, the
data scientist finds that the translation quality is reasonable for an example as short as five words. However, the quality
becomes unacceptable if the sentence is 100 words long. 

Which action will resolve the problem? 

A. Change preprocessing to use n-grams. 

B. Add more nodes to the recurrent neural network (RNN) than the largest sentence\\'s word count. 
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C. Adjust hyperparameters related to the attention mechanism. 

D. Choose a different weight initialization type. 

Correct Answer: C 
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